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§Symbols & Tables

SYMBoLS & TABLeS

pYTHAGoreAn THeoreM 
 L2 + L2 = H2 

LAW oF SineS
 a

A
b

B
c

Csin sin sin   
= =

LAW oF coSineS
 a2 = b2 + c2 - 2bc cos A

 b2 = a2 + c2 - 2ac cos B

 c2 = a2 + b2 - 2ab cos c

inDenTiTieS
 sin2A + cos2A = 1

 tan = sin
cos

 cot = cos
sin

TriGonoMeTric rATioS
 sin = opp

hyp
 cos = adj

hyp
 tan = opp

adj

 csc = hyp
opp

 sec = hyp
adj

 cot = adj
opp

DeGreeS To rADiAnS
 multiply by πr

180º

rADiAnS To DeGreeS
 multiply by 180º

πr

nATUrAL LoG FUncTion
 ln 1 = 0

 ln e = 1

 ln ex = x

 ln xy = ln x + ln y

 ln x/y = in x - ln y

 ln xa = a in x

 elnx = x when x ≥ 0

DiFFerence inDenTiTieS
 cos (A – B) = cos A cos B + sin A sin B

 sin (A – B) = sin A cos B – cos A sin B

 tan (A – B) = tan tan
tan tan

  
   

A B
A B
−

+1

SUM inDenTiTieS
 cos (A + B) = cos A cos B – sin A sin B

 sin (A + B) = sin A cos B + cos A sin B

 tan (A + B) = tan  A tan B
1 tan A tan B

+
−

MiSceLLAneoUS iDenTiTieS
 Sin 2A Indentity 
  sin 2A = 2 sin A cos A

 Cos 2A Indentity 
  cos 2A = cos2 A – sin2 A

 Tan 2A Indentity 
  tan 2A = 2

1 2
  tan

tan

A

A−

 Sin B
2

Identity 
  sin B

2
 = ± −1

2
cos B

 Cos
B
2 Identity 

  cos B
2

 = ± +1
2

cos B

 Tan B
2

Identity #1 
  tan B

2
 = ± −

+
1
1

cos
cos

 
 
B
B

 Tan B
2

Identity #2
  tan B

2
 = 1− cos

sin
 

 
B

B

 Tan B
2

Identity #3
  tan B

2
 = sin

cos
 

 
B

B1+
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GrApHinG Sine AnD coSine FUncTionS
 Y = A sin P(θ – S) + T
 T = translation
 A = amplitude
 P = used to find the period (2p/P)
 S = shift

FinDinG GiVen TerM oF An AriTHMeTic SeqUence
 S

n
 = a

1
 + (n - 1)d

FinDinG SUM oF THe TerMS oF An AriTHMeTic SerieS

 
n a an1

2

+( )  or    n
2

{2a
1
 + (n – 1)d }

FinDinG GiVen TerM oF A GeoMeTric SeqUence
 {S

n
} = {a

1
 • r n-1}

FinDinG THe SUM oF A GeoMeTric SerieS

 a r

r

n
1 1

1

−( )
−

recTAnGULAr eqUATionS 
 line   Ax + BY = c

 circle  Ax2 + AY2 = c

 ellipse  Ax2 + BY2 = c

 parabola  Y = x2

 hyperbola  xY = c and x2 – Y2 = c

BinoMiAL THeoreM

 A B A B N A B N N A B N N NN N N N−( ) = + + −( )
( ) + −( ) −− −0 1 1 2 2

1
1

1 2
1 2(( )

( )( )
−

1 2 3
3 3 0A B A BN N...

qUADrATic ForMULA

 x = − ± −B B AC
A

2 4
2




